Example 
The following laboratory data were available as a result of a differential liberation test of a crude oil sample. nsc=nr
=
==0.02265 SCF


Temperature of cell 220°F.
Calculate Rsi, Rs, Z- factor, Bg, Bo, Bt.




	P
Psig

1
	Vg
Cell cond. cc
2
	Vg
Scf

3
	Vo, cc
Remaining

4
	Vg
Cum. Scf
5
	Rs
Scf/STB

6
	Z
Factor

7
	Bg,
RB/Scf

8
	Bo,
RB/STB

9
	Bt
RB/STB

10

	2620
	-
	-
	63.416
	
	854
	
	
	
	

	2350
	4.396
	0.02265
	61.496
	
	
	
	
	
	

	2100
	4.292
	0.01966
	59.952
	
	
	
	
	
	

	1850
	4.478
	0.01792
	58.528
	
	
	
	
	
	

	1600
	4.960
	0.01693
	57.182
	
	
	
	
	
	

	1350
	5.705
	0.01618
	55.876
	
	
	
	
	
	

	1100
	6.891
	0.01568
	54.689
	
	
	
	
	
	

	850
	6.225
	0.01543
	53.462
	
	
	
	
	
	

	600
	12.814
	0.01543
	52.236
	
	
	
	
	
	

	350
	24.646
	0.01717
	50.771
	
	
	
	
	
	

	159
	50.492
	0.01642
	49.228
	
	
	
	
	
	

	0
	
	0.03909
	42.59
	
	
	
	
	
	

	0(T=60°F)
	
	
	39.572
	
	
	
	
	
	



Solution:
Rsi= 854 that is no free gas (above bubble point pressure)

Rsn=
Rsn=1 bbl= 158.98723 Liter

	P
Psig
	Vg
Cell cond.
	Vg
Scf
	Vo, cc
remaining
	Vg
Cum. Scf
	Rs
Scf/STB
	Z
Factor
	Bg,
RB/Scf
	Bo,
RB/STB
	Bt
RB/STB

	2620
	-
	-
	63.416
	
	854
	
	
	
	

	2350
	4.396
	0.02265
	61.496
	
	
	
	
	
	

	2100
	4.292
	0.01966
	59.952
	
	
	
	
	
	

	1850
	4.478
	0.01792
	58.528
	
	
	
	
	
	

	1600
	4.960
	0.01693
	57.182
	
	
	
	
	
	

	1350
	5.705
	0.01618
	55.876
	
	
	
	
	
	

	1100
	6.891
	0.01568
	54.689
	
	
	
	
	
	

	850
	6.225
	0.01543
	53.462
	
	
	
	
	
	

	600
	12.814
	0.01543
	52.236
	
	
	
	
	
	

	350
	24.646
	0.01717
	50.771
	
	
	
	
	
	

	159
	50.492
	0.01642
	49.228
	
	
	
	
	
	

	0
	
	0.03909
	42.59
	
	
	
	
	
	

	0(T=60°F)
	Σ
	0.21256
	39.572
	
	
	
	
	
	




	P
Psig
	Vg
Cell cond.
	Vg
Scf
	Vo, cc
remaining
	Vg
Cum. Scf
	Rs
Scf/STB
	Z
Factor
	Bg,
RB/Scf
	Bo,
RB/STB
	Bt
RB/STB

	2620
	-
	-
	63.416
	-
	854
	
	
	
	

	2350
	4.396
	0.02265
	61.496
	0.02265
	
	
	
	
	

	2100
	4.292
	0.01966
	59.952
	0.04231
	
	
	
	
	

	1850
	4.478
	0.01792
	58.528
	0.06023
	
	
	
	
	

	1600
	4.960
	0.01693
	57.182
	0.07716
	
	
	
	
	

	1350
	5.705
	0.01618
	55.876
	0.09334
	
	
	
	
	

	1100
	6.891
	0.01568
	54.689
	0.10902
	
	
	
	
	

	850
	6.225
	0.01543
	53.462
	0.12445
	
	
	
	
	

	600
	12.814
	0.01543
	52.236
	0.13988
	
	
	
	
	

	350
	24.646
	0.01717
	50.771
	0.15705
	
	
	
	
	

	159
	50.492
	0.01642
	49.228
	0.17347
	
	
	
	
	

	0
	
	0.03909
	42.59
	0.21256
	
	
	
	
	

	0(T=60°F)
	Σ
	0.21256
	39.572
	
	
	
	
	
	







	P
Psig
	Vg
Cell cond.
	Vg
Scf
	Vo, cc
remaining
	Vg
Cum. Scf
	Rs
Scf/STB
	Z
Factor
	Bg,
RB/Scf
	Bo,
RB/STB
	Bt
RB/STB

	2620
	-
	-
	63.416
	-
	854
	
	
	
	

	2350
	4.396
	0.02265
	61.496
	0.02265
	763
	
	
	
	

	2100
	4.292
	0.01966
	59.952
	0.04231
	684
	
	
	
	

	1850
	4.478
	0.01792
	58.528
	0.06023
	612
	
	
	
	

	1600
	4.960
	0.01693
	57.182
	0.07716
	544
	
	
	
	

	1350
	5.705
	0.01618
	55.876
	0.09334
	479
	
	
	
	

	1100
	6.891
	0.01568
	54.689
	0.10902
	416
	
	
	
	

	850
	6.225
	0.01543
	53.462
	0.12445
	354
	
	
	
	

	600
	12.814
	0.01543
	52.236
	0.13988
	292
	
	
	
	

	350
	24.646
	0.01717
	50.771
	0.15705
	223
	
	
	
	

	159
	50.492
	0.01642
	49.228
	0.17347
	157
	
	
	
	

	0
	
	0.03909
	42.59
	0.21256
	0(D.O.)
	
	
	
	

	0(T=60°F)
	Σ
	0.21256
	39.572
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	P
Psig
	Vg
Cell cond.
	Vg
Scf
	Vo, cc
remaining
	Vg
Cum. Scf
	Rs
Scf/STB
	Z
Factor
	Bg,
RB/Scf
	Bo,
RB/STB
	Bt
RB/STB

	2620
	-
	-
	63.416
	-
	854
	-
	
	
	

	2350
	4.396
	0.02265
	61.496
	0.02265
	763
	0.843
	
	
	

	2100
	4.292
	0.01966
	59.952
	0.04231
	684
	0.848
	
	
	

	1850
	4.478
	0.01792
	58.528
	0.06023
	612
	0.856
	
	
	

	1600
	4.960
	0.01693
	57.182
	0.07716
	544
	0.870
	
	
	

	1350
	5.705
	0.01618
	55.876
	0.09334
	479
	0.884
	
	
	

	1100
	6.891
	0.01568
	54.689
	0.10902
	416
	0.900
	
	
	

	850
	6.225
	0.01543
	53.462
	0.12445
	354
	0.920
	
	
	

	600
	12.814
	0.01543
	52.236
	0.13988
	292
	0.938
	
	
	

	350
	24.646
	0.01717
	50.771
	0.15705
	223
	0.962
	
	
	

	159
	50.492
	0.01642
	49.228
	0.17347
	157
	0.980
	
	
	

	0
	
	0.03909
	42.59
	0.21256
	0(D.O.)
	1.000
	
	
	

	0(T=60°F)
	Σ
	0.21256
	39.572
	
	
	
	
	
	


==



	P
Psig
	Vg
Cell cond.
	Vg
Scf
	Vo, cc
remaining
	Vg
Cum. Scf
	Rs
Scf/STB
	Z
Factor
	Bg,
RB/Scf
	Bo,
RB/STB
	Bt
RB/STB

	2620
	-
	-
	63.416
	-
	854
	-
	
	
	

	2350
	4.396
	0.02265
	61.496
	0.02265
	763
	0.843
	0.001221
	
	

	2100
	4.292
	0.01966
	59.952
	0.04231
	684
	0.848
	0.001373
	
	

	1850
	4.478
	0.01792
	58.528
	0.06023
	612
	0.856
	0.001572
	
	

	1600
	4.960
	0.01693
	57.182
	0.07716
	544
	0.870
	0.001845
	
	

	1350
	5.705
	0.01618
	55.876
	0.09334
	479
	0.884
	0.002218
	
	

	1100
	6.891
	0.01568
	54.689
	0.10902
	416
	0.900
	0.002764
	
	

	850
	6.225
	0.01543
	53.462
	0.12445
	354
	0.920
	0.003643
	
	

	600
	12.814
	0.01543
	52.236
	0.13988
	292
	0.938
	0.005225
	
	

	350
	24.646
	0.01717
	50.771
	0.15705
	223
	0.962
	0.,009031
	
	

	159
	50.492
	0.01642
	49.228
	0.17347
	157
	0.980
	0.019317
	
	

	0
	
	0.03909
	42.59
	0.21256
	0
	1.000
	
	
	

	0(T=60°F)
	Σ
	0.21256
	39.572
	
	
	
	
	
	




=


	P
Psig

1
	Vg
Cell cond.
2
	Vg
Scf

3
	Vo, cc
Remaining


4
	Vg
Cum. Scf

5
	Rs
Scf/STB

6
	Z
Factor

7
	Bg,
RB/Scf

8
	Bo,
RB/STB


9
	Bt
RB/STB


10

	2620
	-
	-
	63.416
	-
	854
	-
	
	1.600
	

	2350
	4.396
	0.02265
	61.496
	0.02265
	763
	0.843
	0.001221
	1.554
	

	2100
	4.292
	0.01966
	59.952
	0.04231
	684
	0.848
	0.001373
	1.515
	

	1850
	4.478
	0.01792
	58.528
	0.06023
	612
	0.856
	0.001572
	1.480
	

	1600
	4.960
	0.01693
	57.182
	0.07716
	544
	0.870
	0.001845
	1.445
	

	1350
	5.705
	0.01618
	55.876
	0.09334
	479
	0.884
	0.002218
	1.412
	

	1100
	6.891
	0.01568
	54.689
	0.10902
	416
	0.900
	0.002764
	1.382
	

	850
	6.225
	0.01543
	53.462
	0.12445
	354
	0.920
	0.003643
	1.351
	

	600
	12.814
	0.01543
	52.236
	0.13988
	292
	0.938
	0.005225
	1.320
	

	350
	24.646
	0.01717
	50.771
	0.15705
	223
	0.962
	[bookmark: _GoBack]0.009031
	1.283
	

	159
	50.492
	0.01642
	49.228
	0.17347
	157
	0.980
	0.019317
	1.244
	

	0
	
	0.03909
	42.59
	0.21256
	0
	1.000
	
	1.075
	

	0(T=60°F)
	Σ
	0.21256
	39.572
	
	
	
	
	1.000
	



=


	P
Psig

1
	Vg
Cell cond.
2
	Vg
Scf

3
	Vo, cc
Remaining


4
	Vg
Cum. Scf

5
	Rs
Scf/STB

6
	Z
Factor

7
	Bg,
RB/Scf

8
	Bo,
RB/STB


9
	Bt
RB/STB


10

	2620
	-
	-
	63.416
	-
	854
	-
	
	1.600
	1.6

	2350
	4.396
	0.02265
	61.496
	0.02265
	763
	0.843
	0.001221
	1.554
	1.665071

	2100
	4.292
	0.01966
	59.952
	0.04231
	684
	0.848
	0.001373
	1.515
	1.748402

	1850
	4.478
	0.01792
	58.528
	0.06023
	612
	0.856
	0.001572
	1.480
	1.860354

	1600
	4.960
	0.01693
	57.182
	0.07716
	544
	0.870
	0.001845
	1.445
	2.01687

	1350
	5.705
	0.01618
	55.876
	0.09334
	479
	0.884
	0.002218
	1.412
	2.243677

	1100
	6.891
	0.01568
	54.689
	0.10902
	416
	0.900
	0.002764
	1.382
	2.592785

	850
	6.225
	0.01543
	53.462
	0.12445
	354
	0.920
	0.003643
	1.351
	3.172381

	600
	12.814
	0.01543
	52.236
	0.13988
	292
	0.938
	0.005225
	1.320
	4.256191

	350
	24.646
	0.01717
	50.771
	0.15705
	223
	0.962
	0.009031
	1.283
	6.981717

	159
	50.492
	0.01642
	49.228
	0.17347
	157
	0.980
	0.019317
	1.244
	14.70779

	0
	
	0.03909
	42.59
	0.21256
	0
	1.000
	
	1.075
	1.075

	0(T=60°F)
	Σ
	0.21256
	39.572
	
	
	
	
	1.000
	1
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